Test 2: oral test
· test will be taken online on MS Teams
· time limit: 5 minutes
· passmark: 7/10 points

1 Transform. Use either the verb, or při + a noun (TM U6). Use either the adjective or the verb. (TM U7) – 2 points
Examples:
Když sportuju, bolí mě hlava. ≈ __________ mě bolí hlava. → Při sportu mě bolí hlava.
Při sportu mě bolí hlava. ≈ __________, bolí mě hlava. → Když sportuju, bolí mě hlava.
or
Zlomil jsem si nohu. ≈ Mám _____________ nohu. → Mám zlomenou nohu.  
Mám zlomenou nohu. ≈ Včera jsem si _____________ nohu. → Včera jsem si zlomil nohu.  
· any of given model structures can be used in the test
· your answer will be accepted if we can understand it (pronunciation)
· you might be asked to repeat your answer (2 times)

2 Translate (TM U6+7) – 3 points
Vocabulary from U6 and U7, translation from English to Czech
· your answer will be accepted if we can understand it (the pronunciation)
· isolated vocabulary and basic colocations will be tested
· painful → bolestivý, bolavý
· mild pain → mírná bolest
· you might be asked to repeat your answer (2 times)
3 Ask the doctor’s question (TM U6+7) – 2 points
Example: _____________________? – Už týden. → Jak dlouho to bolí? or Jak dlouho jste v nemocnici? or Jak dlouho nemůžete chodit.
· only doctor’s questions will be accepted (no: Jak se máte?)
· context should be clear enough to avoid too general questions (Jaké máte potíže?), you might be asked to specify your question
· if your question is comprehensible, you get the point
· if it is not (because of pronunciation or too many grammar mistakes), you can repeat it (2 times)
· the pronunciation or the grammar do not have to be perfect, it must be good enough to be understood

4 Describe the picture. Use sentences, not isolated words (TM U7) – 3 points
[image: Otřes mozku u dětí i dospělých – příznaky, léčba - Zdraví.Euro.cz]
Acceptable answers (each for one point): 
· Muž pracoval a spadl.
· Praštil/uhodil se do hlavy. 
· Muž krvácí.
· Možná má otřes mozku, možná je v šoku.
Possible answers (no points: either no medical context, or stating obvious; but can be used to make a context)
· To je muž.
· Muž relaxuje.
· Muž je starý.
· Jmenuje se Karel.
Nonacceptable answers
· isolated words
· incomprehensible statements 
· structures with too many grammar mistakes (such as: ta mužu pracovam a pad)
image1.jpeg




